Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGG.- SEMESTER-VI EXAMINATION - OCTOBER 2012

Subject code: 362403 Date: 29-10-2012
Subject Name: Microcontroller and Microprocessor
Time: 2:30 pm - 5:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic

Q.1 (a) Listspecifications of 8051. And give any two points in comparison between
microprocessor and microcontroller.
(b) Draw internal memory organization of 8051 with address notation.

Q.2 (a) Draw pin diagram of 8051. Show each pin name & no. in diagram.
(b) Draw program status word register of 8051. And state function of any four
bit of it with example. OR
(b)  Write working of port P2 with example.

Q.3 (a) Listregisters are affected upon reset. Also Write status of various register on
reset.
(b) List addressing modes of 8051. Give functions of register and direct
addressing mode with example.
OR
Q.3 (a) Draw SCON Register. Give function of any four bit.
(b) List addressing modes of 8051. Give functions of indirect and direct
addressing mode with example.

Q.4 (a) Name the five interrupt sources of 8051. And give working of any two with
its address and define condition for set to 1.
(b)  Write an 8051 assembly program to exchange the data of RO and R1 using
PUSH and POP instructions. (assume R0=55h and R1 =66h)
OR
Q.4 (a) List mathematical instructions available in 8051. Explain any three with
example.
(b)  Write a program to load ACC with value 99h and complement 100 times.

Q.5 (a) Writeaprogramto ADD 16 bit number, the number is 1234H and 9876H.
Place the sum in R2 and R1, R1 have a lower byte, R2 have a higher byte.
(b) Draw the format of TCON register and give function of any four bit of
TCON register.
OR
Q.5 (&) Write aprogram to find sum of the value 67H, 45H and D3H, Put the result
in register RO (Low byte). And R1 (high byte).
(b)  Write a program to rotate stepper motor continuously with 8051. Assume any
delay do not consider speed.
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coud HL Yt ouRlldls 825210l of llRe elallcl. ual oA A QL A

Gels1L AL UMl

ACC o 99h &l Als 531 Aal 100 aAwld slruclde scltell Yo dvll.
15 ofle oleR As sRcllell YoM cull. uUa 15 ofle 11234H wal 9876H
8. ARG R2 Aol R1 HL Y8l R1 ML AldR 6Ly, R2 ML SlalR ollse HSl.
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